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T1111e J hv11r.1 

F:,// Marks /00 

Candidates are reqiwed to give 1he1r answers m 1l1e11·.,.. 

own words as for as practicable 

The q11cs11011s ore of equal val11e 

Answer any (i,•e questions, in which 

,, 
question no. I is compulsory. 

/,., Choose the correc1 answer of the following 

(a) The size of Ooat data type in C++ is : 

(i) 2 bytes j.ii-� 4 bytes 

(iii) 8 bytes (iv) None 

(b) The output of the following loop is : 
for (i=l; i<=Sj; i++); 
count <<i; http://www.biharpaper.com 
..w· 2 

(iii) 6 
(ii) 4 

(iv) 8 

( c) What is the oupul of the fol\owil18 program ? 
public class Test First App ( 

21S/7/20/2 
(1) 

(Turnover) 

(d) 

(e) 

public static vo1t.l 1Hai11 (s1ring[lorgs) 

syslcm.out.pri nt In(( 1=::- I J'1( 7==8 J?( S:6:4)); 
} 

(i) 4 
(iii) s 

(ii) 6 

(iv) I 

The statement 
system.out.print(( double )7 /4 ); 
prints 

)Jf
,,,. 

1.7S 
(iii) l.0 

(ii) I 

(iv) 2.0 
What do the statement 
int i = s; bttp:/m-rnY.biharpaper.com 
system.out.print (i++ + ++i); 
Print? 
( i) I I �12 
(iii) 10 (iv) 13 

( f) . Which of the following is procedural language : 
.i,ij/Pascal ( ii) Small talk 
(iii) C++ (iv) None 

(g) Coul stands for : 
(i) Class output 

(. ") Common output 
111 

_.> 

21snnJffl 

� Character output 
(iv) Call output 

Contd. 

PPULearn.com



(h) The value of. 3'% - : 1s . 

-(-i·T 1 

(iii) 1.5 

( i) get ch () 1:. 

( 1i) - I 

(iv) - I S 

�j-)- Input character funcilC•n 

(ii} Input string function 
(iii) Output characte; function 

-:!,µ•Y'None 
U) An array is a. 

fa Derived data type 
(ii) Fundamental data rype 
(iii) Both (i) & (ii) 
(iv) None of these bttp://www.bibarpaper.com 

2. What is m atrix multiplication? Write a C++ prog ram 
for matrix multiplication. 

3. Whal is recursion in C++ ? How many types of 

recursion ? Explain each of them. 

.�al is inheritance in C++ ? How many rypes of 

inheritance? Explain any two with example. 
.....S..-What 1s constructor ? How rnst1Y types of 

constructors are these in C++? &,,fain each of them. 
6. (a) Write a C++ program to evaluate xy by using 

recursion wh . .,,08t and y is integer. · ere x 1,,,, / 

215/7/20/2 (Tum over) 

(b) Write a Java program to print lht folluwing 

pyramid. 

l 
,, 

l 2 3 

l 2 3 4 

1 2 3 4 5 

7 ._/What do you mean by data encryption and data 
decryption ? Explain with example. 

8. Write ajava program to find the sum and average of n 

num� bttp:l/www.bibarpaper.com 

9. ,,_>Vhat is appl�t ? Write an applet program to find the 

sum "��.t-.11.0 numbers. 
Io. rite short notes on any three of the following : 

JaJ 
(b) 

(c) 

(d) 

(e) 

Artificial intelligence 

Constructor 

Operator overloading 

Interface 

Method· ov'erloading 
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